3.5 Dividing polynomials September 16, 2016

Recall:
Divide 567 by 4 usmg long division
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3.3 Dividing a Polynomial By a Polynomial
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N —3 1. use the leading term in the divisor
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5. bring down next term

6. keep going until remainder
is found (remainder has to

be a lower degree than divisor)
Write the answer in two ways:
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Example 2: Divide 8x2 + 14x + 15 by 4x-3
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Example 3: Divide (10 - 6x3 + 4x4 - 5%) by (-1 + 2x \A)’\/vk A V\PU/\ .
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We must use place holders for missing powers of x!
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Synthetic Division (a short cut when dividing by (x - k) )

Example: 37 —5x% — Tx—1
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now multiply by k-value
and add down

final numbers are coefficients
and remainder

write out answer properly
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Homefun:

page 168 #1, 4, 5ace, 6ace, 8b, 9a, 11, 14

e

Quiz Monday: Polynomial functions
and their zeroes (not their heroes)
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